
	
  

EXAMPLE	
  

There	
  is	
  usually	
  a	
  difference	
  
between	
  market	
  value	
  and	
  taxable	
  
value,	
  the	
  most	
  common	
  being	
  for	
  
primary	
  residences	
  or	
  greenbelt	
  
land.	
  

Remember	
  –	
  there	
  are	
  currently	
  two	
  proposals:	
  	
  an	
  increase	
  of	
  .000748	
  for	
  Capital	
  Local	
  Levy	
  and	
  an	
  
increase/introduction	
  of	
  .000748	
  for	
  Voted	
  Local	
  Levy.	
  	
  

For	
  a	
  primary	
  residence	
  the	
  property	
  valuation	
  is	
  reduced	
  by	
  45%.	
  So	
  your	
  calculation	
  for	
  each	
  levy	
  is:	
  	
  
Assessed	
  property	
  value	
  x	
  .55	
  x	
  .000748	
  =	
  approximate	
  increase	
  in	
  tax.	
  	
  ($150,000	
  fair	
  value	
  x	
  .55	
  x	
  
.000748	
  =	
  $61.71)	
  

If	
  you	
  use	
  market	
  value,	
  
multiply	
  the	
  amount	
  by	
  .55	
  
for	
  a	
  primary	
  residence,	
  and	
  
a	
  rate	
  of	
  	
  0.001496	
  (both	
  
increases)	
  to	
  arrive	
  at	
  
approximately	
  how	
  much	
  
your	
  increase	
  would	
  be.	
  

***If	
  your	
  assessed	
  valuation	
  (the	
  market	
  value	
  of	
  your	
  home)	
  changes	
  the	
  dollar	
  amount	
  of	
  your	
  
anticipated	
  increase	
  may	
  change.	
  	
  

If	
  you	
  use	
  taxable	
  value	
  –	
  
multiply	
  the	
  amount	
  by	
  
the	
  increase	
  of	
  0.001496	
  
(both	
  increases)	
  to	
  arrive	
  
at	
  approximately	
  how	
  
much	
  your	
  increase	
  would	
  
be.	
  

Greenbelt	
  can	
  be	
  tricky	
  to	
  calculate	
  because	
  there	
  
are	
  many	
  different	
  classifications	
  of	
  greenbelt.	
  	
  The	
  
easiest	
  way	
  to	
  determine	
  your	
  individual	
  impact	
  is	
  
to	
  get	
  the	
  taxable	
  value	
  on	
  your	
  property	
  notice	
  
statement	
  and	
  multiply	
  that	
  by	
  the	
  total	
  proposed	
  
increase	
  (both	
  rates)	
  of	
  0.001496.	
  	
  In	
  the	
  case	
  of	
  
this	
  particular	
  classification	
  of	
  greenbelt,	
  the	
  
impact	
  would	
  be	
  $8.08	
  or	
  $0.46	
  per	
  acre	
  per	
  year.	
  

Use	
  to	
  calculate	
  your	
  
increase	
  


